Find m/ABD?

m/ABD =
28° +52°=80°

4) Find m/GKH.

G 54°125°
P H

m/GKH =
54° 4+ 25° ="79°

7) /CFG is aright angle.

Find x.

C
27 K
Tx G

F
7x +27° = 90°
—27°-27°

7x = 63°
7 7

x =9°

10) m/GHI=58". Find v.

12v +22° = 58°
—22°-22°

12v=36°
12 12
v=23°

Angles Equations 2
Geometry

2) m/XYZ=118". Find m/XYV.
m/XYV =
118° — 35°=83°

5) m/QPM=101°. Find m/QPN.

p
4976"\‘
N M

m/QPN =
101° — 56° = 45°

8) /PQR measures 138°.
Find t.

<.

ot +84° = 138°
— 84° _ 84°

11) m/DEF=140". Find k

D
C
4k
E

4k +84° = 140°
— 84° — 84°

4k = 56°
4 4
k = 14°

Find m/QRT.

111" m/=QRT
180° - 111° = 69°

6) Find m/TXW.

v W
TN\
9
X

m/TXW =
19° +17° =36°

9) m/VWX =48° Find c.

Y
VW(
8c
\\Y%

8c +16° = 48°
~16°-16°

12) m/RTW=41°. Find a.

v
15°
R a|W
T

2a+15°=41°
~15°-15°

2a=26°
2 2
a=13°



13) m/T is 40° less than the m/V. /T and /V are

supplementary. Find the measures of the two angles.

m/T =x—40° X —40° +x=180°
=(110°—-40°) 2x —40° = 180°
m/T =70° +40° +40°
m/V =x=110°
2x =220°
2 2
x=110°

In each figure below, BD is the angle bisector of Z ABC.

14) m/3 is 18° more than twice the m/4 . /3 and /4
are complementary. Find the measures of the two

angles.
2x + 18 + x =90°
m/3=2x+ 18° 3x +18°=90°
=2(24°)+ 18° —18° —18°
m/3 = 66°
m/4 =x=24° 3x=172°
3 3
x =24°

17) m/ABC=162". Find m/ABD

15) Find m/ ABC. 16) Find m/ABC.
and m/CBD.
A" /C
C
B m/ABC = 19° + 19° = 38° 0-n —g1o
m/ABC = 29° + 29° = 58° 16272 =81
18) m/ABC = 124°. Find 19) Find x. 20) Findz
m/ABD and m/CBD.
C 11x=22° A 6z=78°
11 11 6 6
70 78°
124°+ 2 = 62° X =2° D 6z /8 t=13°
C

21) /ABC is a straight angle.

Find d. Find k.
B
6d 6d = 90°
D 6 6
d=15° B

22) /ABC is aright angle.

23) m/ABC=84". Find m.

Ok = 45°
9 9

k=5°




Find the measures of all angles.

24) 4t +4° 5t-17=4t+4

421)+4° -4t -4t =12(8) + 19
B t-17=4
=92° +17 +17 =
t=21
—88° =115°
26) 7d+12d - 29 =180° -8(-15) + 19
19d — 29 = 180° =139°
o M
7d  \012d-29° 19d = 209°
7(11°) 12(11°)-29 19

~77° =103°
<
D E F

x=11°

25) 12k + 19°

12k + 19° = 15k -5°
-12k -12k

19=3k-5
+5 +5
24 =3k

3 3

8° =k

-8a+19+a+56=180°

Ta+75=180°
75 75
ats36  .7a=105°
(15)+56 7 7
=41°
x =-15°
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